
Kantonsschule Solothurn  Integralrechnung 
  RYS 

Lösungen - Integrationsmethoden 
 
Aufgabe 1 
 

a.   3)ax(

1
  =  

ିଵ

ଶ(௫ି௔)మ + C 

b.   t5
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 dt  =  -2√5 − 𝑡 + C  

c.   5)x34(
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 dx  =  

ଵ

ଵ଼(ଷ௫ିସ)ర + C 

   

d.  3 1x4  dx  =  
ଷ(ସ௫ିଵ)ర/య
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 + C 

 

e.  4 2t7
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 + C   

 
 
Aufgabe 2 
 
a.  tcost  dt =  cost + t∙sint + C 

b.  uue  du = (-u – 1)∙e-u + C 

c.  xsinx2  dx = (2 – x2)∙cosx + 2x∙sinx + C 

d.  ycosey  dy = 
ଵ

ଶ
ex(cosx + sinx) 

 
 
Aufgabe 3 
 

a.  1t

1
2

 dt  = - 
ଵ

ଶ
𝑙𝑛 ቚ

௫ାଵ

௫ିଵ
ቚ  + C 
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

6xx
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 dx =  - 𝑙𝑛 ቚ
(௫ାଵ)య
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ቚ  + C 

c.  


xx
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 dx = 𝑙𝑛 ቚ
௫మ

௫ାଵ
ቚ   + C 

d. 
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1y3y2

 dy = 𝑙𝑛|𝑥|  + 
௫మ

ଶ
 – 3x + C 

e.  


1u

1u
 du = 2𝑙𝑛|𝑥 − 1|  + x + C 

 



Aufgabe 4 
 

a.  


))5t6(
5t6

1
( 3  dt = 

௟௡|଺௧ାହ|

଺
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(଺௧ାହ)ర
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 + C 

b.   aza2  da = …… 

c. 


2

1

2kx  dx = 
3

2
 = 3k k = 2/9 

d. 
2k

1 z

1
 dz = 8 = ln(k2) k = e±4 

e. 
2/k

0

)x2sin(  dx = 1 = 0.5 – 0.5cos(k) k =  

 
 
Aufgabe 5 
 

a. y ey
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1
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ଶ

௘
     = 0.74 

b. u u
e
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 du =  
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ସ
 + ¼ = 2.09 
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
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t
 dt = 2(ln(2))2 = 0.96 

d. ( ) ( )2 1 2 1
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3
x e x  


dx =   

ଷ௘ఴାଵ

௘
   =   3290.27 

e. e tt 
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2
dt =   

ଵ

ଶ௧
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Aufgabe 6 
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Aufgabe 7 
 
a. A = 3, V = 3π 

b. A = 2, V = ∞ 

c. A = ∞, V = π 

d. 1  

e. –0.5 

f. e3/2 

g. 1  

h. 3π  

i. 1 

 


